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Answer the following questions: 
Question one (5 marks) 

Calculate the force needed to shear a pin 6 mm diameter given that the ultimate 
shear stress is 70 MPa. 

 

 

 

 

 

 

 

Question two (10 marks) 

The two members, shown in the figure, are pinned together at B. If the pins have 

an allowable shear stress of τallow = 90 MPa, and allowable tensile stress of rod   

CB is (σt)allow = 115 MPa. Determine to nearest mm the smallest diameter of 
pins A and B. 
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Good Luck 
Dr. Rola Afify 


